MT 118, Quiz #9, Fall 2019 Name K E\f

Instructions: Show all work. Partial credit can only be given where work is shown. Be sure to answer all
parts of each question. You may not use a calculator on this quiz.
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1. Solve the lnequahtygx < = Draw the solution on a number line.
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2. Consider the following set: .,%
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Using correct set notation, give the elements that also belong to each of the following sets.
a. The Natural Numbers

z.-
‘i, l-23|:33, (-4 2le, 2%;5 gﬁ.“;‘b? - N

b. The Rational Numbers
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c. The Irrational Numbers
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d. Integers
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3. Compute and simplify
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4. Express the value (—32)%° without exponents.

Gj;); = (2) = -8
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5. Solve the mequahty;x — 2 < =x + -. Draw the solution on a number line.
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